
 

 1. Using the example planetary gearset, explain what component(s) must be driven, what 
component(s) must be held, and what component(s) is the output in each of the following gear 
ranges. 

  Underdrive: _________________________________________________________________ 

 ______________________________________________________________________________ 

  Overdrive: __________________________________________________________________ 

 ______________________________________________________________________________ 

  Direct drive: ________________________________________________________________ 

 ______________________________________________________________________________ 
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